% fNo F— 24 RFA/3—1 41 RFA/3—2 42 RFA/3—3 H43
HARMITSk AL FA LT I L/C81 IR Al TJ R E L/C73
HARMITY % ATV T = (=225 L/CT73 AN L/C77 H I L/CT73
HARMITOVAE X 50 07 % A L/C81 TFeHET7N |L/CTT AR L/C73
JeAt JIREEST L/CT73 R A JA11 LR E— L/C73
SLCCvDaddy’s JT. 0B L/C73 EINBG AT L/C73 ILIAT 1R BJ74
FLCC T A ] BJ74 fETIESE  |KZJ78 — R Y61
3 A b A Kudo—] Works PR i ] JAL1 WARME  |JALL WELHATES  |JALL
KL% Kudo—] Works I JALL HEREEH Vhm— 7S Vh=—
BT Kudo—J Works R — JA11 MK —  |JATL AT R JATL
LCCO FIAI>Hoh HEEEZ BJ44 ERE S BJ74 P CJ-7
LCCO ¥ 2 BAKNE HJ61 {0 1130k JB23 SRS |L/CT6
LCCO 385+& ZHE L/C81 AR L./C81 = K L/CT73
SLCC YGR? ? THER JAL1 HIEZ  |L/CT0 AN BJ74
Kudo-J Works /L% wIFE— |JALL JeHsER |JALL SFHEIGH |JB23

TRYANGLEJUWNDV 22k HGTF—240




TRY-ANGLE 2010 JLJHDV2 RANEN 2 % Time _ 9Sec A Time 3% &  Time ) we e REe
F—24 No. W.B 1SecTime JIH Point * 1 Time JIE Point * 2  Time JIE Point *+ 3 wqrh NEAE ("['j%%())
[LCCO Efr %2 [ 7 J[7690]|[ 14728.22 [[3 ][ J[u5 (21 ][ 3 [33][ 1rs.7s J[5][ J[us][1s ][ [ 28 Jlosaa.04][ 1] J2of[12] [32] |[93 J[ 1 ]| |
[SLCC¥Daddy’s [ 11 J[7770][[o6’29.78 L] J[20][27 [ J[a7 ][ 041487 | L] J[20][18 ] [38 ]| | I R T | P |
[HARMIT A7 +77 = |8 |[7990][ 113034 JL2 [ a7 fle7 [ Jlaa]j[irss.ar 7] a7 ] s8] W sz ] 3 i |
[HARMIT &P 9 770 I 0 I I ffee'2s.88 2 Jiz][27 ][ 3 a1 Jfos'ss.08][3 [ J[1s]l24][ [39] |[80 ][4 ]| |
[VEBF [ 6 ][71s0]] I 00 T I o248 3] Js][24 ][ |39 Jfog'as.1o][a [ Jluafl2i][ [s5] |[74 ][5 ]| |
[LCCO_3¥;E [ IO JC I Jilesz.es L8[ Jluoff2a ][ |34 Jlos'se.60 [2 T Jr]lie][ 200 [[63 JL 6 1]
[LcCO 792 Hoboa |10 |[7550]] O I I Jjroes.ve L4 ][ J[a]f2a ][ ]38 ] N o TS | |
[HARMIT GAbr50A R |5 ][8200]] O IC T I Jurss.oo Le [ J2]f24 ][ ][36 ] | N o TG | | |
[FLCC |14 J[7740]| I IC I I CICIC I I | N I |
[#1J 5F% kudo—j works [ 12 J[6120] 07"a8.85 [ [ ][20][27 ][ J[a7][ 03’791 [ J1J[20][18 ][ [38 Jfo9a6.t3][ 2 a7][1s] [35] | [[120 ]| |
[#34 2% Akudo—j works [ 4 J[e1a0][ o9ar.62 [ w5 ][27 ][ I[42][o#'26.72 ][ [ 2[i7][1s ][ 35 J[o5s.06 ][ J 1] 20][ 18] (s8] | [L15 ]| [ 2 ]
[SLCC YGR? 3 6700 o9r0.91 [ e[z ][us ][ 35 ][ursran [ 5 ][us]xs ][ 3 28 J[rets2.72 ][ Ja Jad[ws ] J[s2] | [95 ]| | E
[kudo—j works /LB [ 13 [6350]| I 0TI rorsz.se I L ad[ua]las ][ 52 Jrosz.2c ][ s J[as][1s ] J[s0] |[62 ]| L4 |
DREILTBES kudo—jworks ][ 2 [[6160]] ] G Y | | I R R | L5 |




TRY-ANGLE 2010 JuNDV2 1SECHANLZ 1Sec A Time 1Sec
[=thva L}IEI{%O F— L4 No. W.B Time JE Point ¥ = Point
1 SLCC¥Daddy’s [11 ] [7770] [06’29.78 |[ 1 20 |[ 27 47
2 HARMIT Px A7+ 5y |[8 | [7990] [11°30.34 |[ 2 17 [ 27 44
3 LCCO Bift#? [ 7 ][7690] [1428.22 [ 3 15 |21 3 ][33
DNF LCCO 35 E [ 1 ][8300] |
DNF|—— few (o] [iso]
DNF HARMIT 85817 [9 ][7770]
DNF LCCO 72 Hobxh  |[ 10 ][7550]
DN fcc (1] (]
DNF HARMIT OCABr50ATE:  |[ 5 | [8200] |
1| [#8F5B% kudo-j works [[12 ] [6120] [0748.85 |[J[1][20][27 47
2| [BA b Akudo—j works [ 4 ] [6140] [09ar.e2 |[ J[3][15][27 42
3 ][sLcC YGR? 2 [ 3] [6700] [[09%0.91 |[ J217][18 35
DNEF | [KEL 72 kudo-jworks |[ 2 |[6160] [ ]
DNF | |kudo—j works = /L% [13 7] [6350]




TRY-ANGLE 2010 JuMIDV2 2SECHANZF  2Sec 4  Time 2Sec
JNE{ST L}IEI{%O F— L4 No. W.B  Time JIE Point * Point
1 HARMIT #kE1iA [ 9 ||7770]| 06’28.88 || 2 17 27 41
2 VEBF [ 6 |[7180][ 09°24.78 | 3 15 ][ 24 39
3 HARMIT P A7+ Fvia |8 | [7990] [ 1158.41 | 7 1127 38
4 SLCC¥Daddy’s [11 | [7770][ 04°14.87 | 1 20] 18 38
5 LCCO 7T Bobxh |10 | [7550][ 10°25.16 |[ 4 14 ][ 24 38
6 HARMIT CABE20ACEE:  |[ 5 | [8200][ 1158 |6 12][24 36
7 LCCO 3% [ 1 ][8300][13°12.65 ] 8 10 [ 24 34
8 LCCO Hifr#? [ 7 ][7690][ 11’3.78 |[ 5 13][ 15 28
DNF FLCC [14 ] [7710]
1 |[BU5E% kudo—j works [ 12 | [6120][ 03°47.91 1 [20][18 38
2 |[#ATHAkudo=j works [ 4 |[6140][ 04°26.72 2 [17][18 35
3 |[KFL+#24 kudo—jworks |[ 2 | [6160][ 06°11.85 3][15] 18 33
4 |[kudo—j works =/L-=B% [ 13 | [6350][ 10°32.56 4 ][14] 18 32
5_|[sLcc yGr? 2 [ 3 |[6700][ 11’5131 5 [13][18 28




TRY-ANGLE 2010 JuNDV2 3SECIAfL# 3Sec A Time 3Sec
JIEAT JE{%O F—24 No. W.B  Time J Point * = Point
1 HARMIT #kE1HA [ 9 [[7770]]08°58.03 || 3 || [|15] 24 39
2 VBT [ 6 |[7180] [0943.10][4 ] J[14] 2t 35
3 LCCO Hifr 2 [ 7 ][7690] [05a4.94 | L] J[20][12 32
4 LCCO 3t [ 1 ][8300] [08’52.69 |[ 2 ] J[17][12 29
DNF HARMIT v A7 /5= |[ 8 | [7990] ]
DNF|Jicco 757 zone (10 ][ L
DNE FLCC [14 ] [7710] (I
DNF SLCC¥rDaddy’s [[11 ] [7770] ]

DNF HARMIT OAB150AZR [ 5 | [8200] [

1 |[#3%AZbAkudo—j works [ 4 |[6140][0548.06|[ ][ 1][20][18 38
2|5k kudo—j works [ 12 | [6120] [0946.13|[ [ 2 ][17][18 35
3 JsLcc YGr? 2 [ 3 |[e700] [12’52.72 [ 4 ][14][18 32
4 |kudo=j works =Lk [ 13 | [6350] [10’37.21 [ J[3][15][15 30
DNF |2 kudo—jworks || 2 | [6160] I




2010 £ #EH{POINTE®R OVER7100mm¥I5 X

ROUND1 ROUND2 ROUND3 TOTAL
POS TEAM point W.B. point W.B. point W.B. point W.B.
1 JER 61 7185 74 7180 135 7182.5
2 HARMIT 58 53 7790 80 7770 133 7780
3 SLCCyDaddy’s 42 7850 85 7770 127 7810
4 LCCO 35+ 61 8260 63 8300 124 8280
5 LCCO BEEXR"? 7800 93 7690 93 7745
6 HARMITO YA P b5y 7950 82 7990 82 7970
7 LCCO TSR HobvA 43 7530 38 7550 81 7540
8 FLCC 54 7690 7740 54 7715
9 RACH T/ ADER 38 7690 38 7690
10 HARMIT VAL EAYAZE 36 8200 36 8200
11 HARMIT #&H~L\! Falls 7960 0 7960




2010 4E#15POINT®R UNDER7100mm#%52X

ROUND1 ROUND2 ROUND3 TOTAL
POS TEAM point W.B. point W.B. point W.B. point W.B.

1 H1F 5B kudo—j works 73 6140 120 6120 193 6130
2 M AZH Akudo—j works 37 6135 115 6140 152 6137.5
3 SLCC YGR? ? 36 6890 95 6700 131 6795
4 kudo—j works =)L [X 55 6090 62 6350 117 6220
5 RKELFHE kudo—j works 24 6305 33 6160 57 6232.5
6 N kSA47F7IL 47 6735 47 6735




